
1 [ Contd...
68/SS/O-350-A ]

EMPLOYABILITY SKILLS AND ENTREPRENEURSHIP
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2. 

General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.
2. Please check the Question Paper to verify that the total pages and total number of questions contained in the

Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68/SS/O-A on the Answer-Book.
5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility for any
errors/mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.

‚Ê◊Êãÿ •ŸÈŒ‡Ê —
1. ¬⁄UËˇÊÊÕË¸ ¬˝‡Ÿ-¬òÊ ∑§ §¬„‹ ¬Îc∆U ¬⁄U •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •fl‡ÿU Á‹π¥–
2. ∑Î§¬ÿÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ¡ÊÚ°ø ‹¥ Á∑§ ¬˝‡Ÿ-¬òÊ ∑§ ∑È§‹ ¬Îc∆UÊ¥ ÃÕÊ ¬˝‡ŸÊ¥ ∑§Ë ©ÃŸË „Ë ‚¥ÅUÿÊ „Ò Á¡ÃŸË ¬˝Õ◊ ¬Îc∆ ∑ §‚’‚ ™§¬⁄U ¿U¬Ë „Ò– ß‚

’ÊÃ ∑§Ë ¡ÊÚ°ø ÷Ë ∑§⁄U ‹¥ Á∑§ ¬˝‡Ÿ ∑˝ Á◊∑§ UM§¬ ◊¥ „Ò¥–
3. § ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ ¬„øÊŸ-Áøq ’ŸÊŸ •ÕflÊ ÁŸÁŒ̧c≈U SÕÊŸÊ¥ ∑§§•ÁÃÁ⁄UÄÃ ∑§„Ë¥ ÷Ë •ŸÈ∑̋§◊Ê¥∑§ Á‹πŸ ¬⁄U ¬⁄UËˇÊÊÕȨ̈ ∑§Ê •ÿÊÇÿ ∆U„⁄UÊÿÊ ¡ÊÿªÊ–
4. •¬ŸË ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ¬⁄U ¬˝‡Ÿ-¬òÊ ∑§Ë ∑§Ê«U ‚¥ÅÿÊ 68/SS/O-A Á‹π¥–
5. (∑§) ¬˝‡Ÿ-¬òÊ ∑§fl‹ Á„¥ŒË/•¥ª˝¡Ë ◊Êäÿ◊ ◊¥ „Ò–  Á»§⁄U ÷Ë, ÿÁŒ •Ê¬ øÊ„¥ ÃÊ ŸËø ŒË ªß¸ Á∑§‚Ë ∞∑§ ÷Ê·Ê ◊¥ ©ûÊ⁄ Œ ‚∑§Ã „Ò¥ —

•¥ª˝¡Ë, Á„¥ŒË, ©ŒÍ¸, ¬¥¡Ê’Ë, ’°ª‹Ê, ÃÁ◊‹, ◊‹ÿÊ‹◊, ∑§ãŸ«∏, Ã‹ÈªÈ, ◊⁄UÊ∆UË, ©Á«∏ÿÊ, ªÈ¡⁄UÊÃË, ∑§Ê¥∑§áÊË, ◊ÁáÊ¬È⁄UË, •‚Á◊ÿÊ,
Ÿ¬Ê‹Ë, ∑§‡◊Ë⁄UË, ‚¥S∑Î§Ã§•ÊÒ⁄U Á‚¥œË–
∑Î§¬ÿÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŒ∞ ª∞ ’ÊÚÄ‚ ◊¥ Á‹π¥ Á∑§ •Ê¬ Á∑§‚ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹π ⁄U„ „Ò¥–

(π) ÿÁŒ •Ê¬ Á„¥ŒË ∞fl¥ •¥ª˝¡Ë ∑§ •ÁÃÁ⁄UÄÃ Á∑§‚Ë •ãÿ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹πÃ „Ò¥ ÃÊ ¬˝‡Ÿ ∑§Ê ‚◊¤ÊŸ ◊¥ „ÊŸ flÊ‹Ë
òÊÈÁ≈UÿÊ¥/ª‹ÁÃÿÊ¥ ∑§Ë Á¡ê◊UŒÊ⁄Ë ∑ fl‹ •Ê¬∑§Ë „ÊªË–

6. ¬˝‡Ÿ¬òÊ ◊¥ Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§ ‚¥Œ„ •ÕflÊ ŒÈÁflœÊ ∑§Ë ÁSÕÁÃ ◊¥ •¥ª˝¡Ë •ŸÈflÊŒ „Ë ◊Êãÿ „ÊªÊ–

This Question Paper consists of 43 questions and 11 printed pages.
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Roll No.

•ŸÈ∑˝§◊Ê¥∑§

Code No.

∑§Ê«U Ÿ¥.
68/SS/O

SET/‚≈ A



2 [ Contd...
68/SS/O-350-A ]

EMPLOYABILITY SKILLS AND ENTREPRENEURSHIP

⁄UÊ¡ªÊ⁄U ∑§ÊÒ‡Ê‹ •ÊÒ⁄U ©lÁ◊ÃÊ

(350)

Time : 3 Hours ] [ Maximum Marks : 80

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 80

Note : (i) This question paper consists of 43 questions in all.

(ii) All questions are compulsory.  Write your answers in answer book.

(iii) Marks are given against each question.

(a) Q. No. 1 to 16 - Multiple Choice type questions (MCQs) carrying 1 mark each.  Select
and write the most appropriate option out of the four options given in each of these
questions.

(b) Q. No. 17 to 28 - Objective type questions carry 2 marks each (with 2 sub-parts of 1
mark each).  Attempt these questions as per the instructions given for each of the
questions.

(c) Q. No. 29 to 37 - Very short answer type questions carrying 2 marks each to be answered

in the range of 30 to 50 words.

(d) Q. No. 38 to 41 - Short answer type questions carrying 3 marks each to be answered  in

the range of 50 to 80 words.

(e) Q. No. 42 and 43 - Long answer type questions carrying 5 marks each to be answered

in the range of 80 to 120 words.

ÁŸŒ¸‡Ê — (i) ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ ∑È§‹ 43 ¬˝‡Ÿ „Ò¥–

(ii) ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–  •¬Ÿ ©ûÊ⁄U, ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ Á‹π¥–

(iii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ •¥∑§ ©‚∑§ ‚Ê◊Ÿ Œ‡ÊÊ¸ÿ ªÿ „Ò¥–

(a) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 16 Ã∑§ 1 •¥∑§ flÊ‹ ’„ÈÁfl∑§À¬Ëÿ ¬˝‡Ÿ „Ò¥– ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ÁŒÿ ªÿ øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚
‚flÊ¸ÁøÃ Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄U∑§ Á‹Áπ∞–

(b) ¬˝‡Ÿ ‚¥ÅÿÊ 17 ‚ 28 Ã∑§ 2 •¥∑§ flÊ‹ (¬˝àÿ∑§ ◊¥ 1 •¥∑§ flÊ‹ 2 ©¬-÷Êª) ¬˝‡Ÿ „Ò¥– ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ÁŒÿ ªÿ
•ŸÈŒ‡ÊÊ¥ ∑§ •ŸÈ‚Ê⁄U „‹ ∑§ËÁ¡∞–

(c) ¬̋‡Ÿ ‚¥ÅÿÊ 29 ‚ 37 Ã∑§ 2 •¥∑§ flÊ‹ •ÁÃ‹ÉÊÈ ©ûÊ⁄UËÿ ¬̋‡Ÿ „Ò, Á¡Ÿ∑§Ê ©ûÊ⁄UU 30 ‚ 50 ‡ÊéŒÊ¥ ◊¥ ÁŒÿÊ ¡ÊŸÊ „Ò–

(d) ¬˝‡Ÿ ‚¥ÅÿÊ 38 ‚ 41 Ã∑§ 3 •¥∑§ flÊ‹ ‹ÉÊÈ ©ûÊ⁄UËÿU ¬˝‡Ÿ „Ò, Á¡Ÿ∑§Ê ©ûÊ⁄ 50 ‚ 80 ‡ÊéŒÊ¥ ◊¥ ÁŒÿÊ ¡ÊŸÊ „Ò–

(e) ¬˝‡Ÿ ‚¥ÅÿÊ 42 •ÊÒ⁄U 43 Ã∑§ 5 •¥∑§ flÊ‹ ŒËÉÊ¸ ©ûÊ⁄UËÿ ¬˝‡Ÿ „Ò, Á¡Ÿ∑§Ê ©ûÊ⁄ 80 ‚ 120 ‡ÊéŒÊ¥ ◊¥ ÁŒÿÊ ¡ÊŸÊ „Ò–
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1. The boss of Anita calls her at 7:00 p.m. and asks her to report for duty at 10:00 p.m. for an
urgent project.  Which Act is violated here ?

(A) Equal Remuneration Act, 1976 (B) Factories Act, 1948

(C) Payment of Bonus Act, 1965 (D) Workmen Compensation Act, 1923

•ŸËÃÊ ∑§ ’ÊÚ‚ Ÿ ‚Êÿ¥ 7:00 ’¡ ©‚ »§ÊŸ ∑§⁄U∑§ ∑§„Ê Á∑§ fl„ ∞∑§ ◊„àfl¬ÍáÊ¸ ¬Á⁄UÿÊ¡ŸÊ „ÃÈ ⁄UÊÁòÊ 10:00 ’¡ «KÍ≈UË
„ÃÈ ©¬ÁSÕÃ „Ê– ÿ„Ê° Á∑§‚ •ÁœÁŸÿ◊ ∑§Ê ©À‹¥ÉÊŸ „È•Ê „Ò?

(A) ‚◊ÊŸ ¬ÊÁ⁄UüÊÁ◊∑§ •ÁœÁŸÿ◊, 1976 (B) ∑§Ê⁄UπÊŸÊ •ÁœÁŸÿ◊, 1948

(C) ’ÊŸ‚ ÷ÈªÃÊŸ •ÁœÁŸÿ◊, 1965 (D) ∑§◊¸øÊ⁄UË ˇÊÁÃ¬ÍÁÃ¸ •ÁœÁŸÿ◊, 1923

2. A Company grants promotion to some employees but a women employee could not be
promoted because of her gender.  Under which Act she can file a case against the
company ?

(A) Workmen Compensation Act, 1923

(B) Industrial Disputes Act, 1947

(C) Factories Act, 1948

(D) Equal Remuneration Act, 1976

∞∑§ ∑¥§¬ŸË Ÿ ∑È§¿U ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§Ê ¬ŒÊãŸÁÃ ¬˝ŒÊŸ ∑§Ë ¬⁄¥UÃÈ ∞∑§ ∑§◊¸øÊ⁄UË, ◊Á„‹Ê „ÊŸ ∑§ ∑§Ê⁄UáÊ ¬ŒÊãŸÃ Ÿ„Ë¥ ∑§Ë ¡Ê
‚∑§Ë–  fl„ ∑¥§¬ŸË ∑§ ÁflL§h Á∑§‚ •ÁœÁŸÿ◊ ∑§ •¥Ãª¸Ã flÊŒ ¬˝SÃÈÃ ∑§⁄U ‚∑§ÃË „Ò?

(A) ∑§◊¸øÊ⁄UË ˇÊÁÃ¬ÍÁÃ¸ •ÁœÁŸÿ◊, 1923

(B) •ÊÒlÊÁª∑§ ÁflflÊŒ •ÁœÁŸÿ◊, 1947

(C) ∑§Ê⁄UπÊŸÊ •ÁœÁŸÿ◊, 1948

(D) ‚◊ÊŸ ¬ÊÁ⁄UüÊÁ◊∑§ •ÁœÁŸÿ◊, 1976

Note / ÁŸŒ¸‡Ê —
(1) Answers of all questions are to be given in the Answer-Book given to you.

‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U •Ê¬∑§Ê ŒË ªÿË ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „Ë Á‹π¥–
(2) 15 minutes time has been allotted to read this question paper.  The question paper will be

distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò–  ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ŒÊ¬„⁄U ◊¥ 02:15 ’¡ Á∑§ÿÊ
¡Ê∞ªÊ–  ŒÊ¬„⁄U 02:15 ’¡ ‚ 02:30 ’¡ Ã∑§ ¿UÊòÊ ∑§fl‹ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ fl
©ûÊ⁄U-¬ÈÁSÃ∑§Ê ¬⁄U ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥ Á‹π¥ª–

1

1
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3. Effective communication requires, __________. 1

(A) Speaking English fluently

(B) Balance between Non-verbal and Verbal communication

(C) Speaking Hindi fluently

(D) Speaking loudly

¬˝÷ÊflË ‚ê¬˝·áÊ „ÃÈ •Êfl‡ÿ∑§ „Ò __________–

(A) œÊ⁄UÊ¬˝flÊ„ •¥ª˝¡Ë ’Ê‹ŸÊ

(B) •‡ÊÊÁéŒ∑§ ∞fl¥ ‡ÊÊÁéŒ∑§ ‚ê¬˝·áÊ ◊¥ ‚¥ÃÈ‹Ÿ

(C) œÊ⁄UÊ¬˝flÊ„ Á„ãŒË ’Ê‹ŸÊ

(D) ©ìÊ Sfl⁄U ◊¥ ’Ê‹ŸÊ

4. A software application used to display webpages, is called : 1

(A) Search Engine (B) Home Page (C) Web Browser (D) Website

flÒ’ ¬¡Ê¥ ∑§ ¬˝Œ‡Ê¸Ÿ „ÃÈ ¬˝ÿÈÄÃ Á∑§ÿÊ ¡ÊŸ flÊ‹Ê ‚Êç≈Uflÿ⁄U •ŸÈ¬˝ÿÊª ∑§„‹ÊÃÊ „Ò —

(A) πÊ¡ ß¥¡Ÿ (B) •Ê◊Èπ ¬Îc∆U (C) fl’ ¬Á⁄UflÃ¸∑§ (D) fl’SÕ‹

5. Full  form of ISP is : 1

(A) Information Search Protocol (B) Internet Service Process

(C) Information Service Provider (D) Internet Service Provider

•Êß¸ ∞‚ ¬Ë ∑§Ê ¬ÍáÊ¸ M§¬ „Ò —

(A) ßŸ»§Ê◊¸‡ÊŸ ‚ø¸ ¬˝Ê≈UÊ∑§Ê‹ (B) ß¥≈U⁄UŸ≈U ‚Áfl¸‚ ¬˝Ê‚‚

(C) ßŸ»§Ê◊¸‡ÊŸ ‚Áfl¸‚ ¬˝ÊflÊß«U⁄U (D) ß¥≈U⁄UŸ≈U ‚Áfl¸‚ ¬˝ÊflÊß«U⁄

6. In the Entrepreneurship Ecosystem, which of the following statement is most relevant ? 1

(A) Culture is not most important component

(B) Business Environment includes both internal factors and external factors

(C) The ecosystem functions in a constant type of markets

(D) EE is successful when there is no involvement of government at all

©lÁ◊ÃÊ ¬ÊÁ⁄UÃ¥òÊ ◊¥, ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ‚flÊ¸Áœ∑§ ¬˝Ê‚¥Áª∑§ „Ò?

(A) ‚¥S∑Î§ÁÃ ‚flÊ¸Áœ∑§ ◊„ûfl¬ÍáÊ¸ ÉÊ≈U∑§ Ÿ„Ë¥ „Ò

(B) √ÿfl‚Êÿ flÊÃÊfl⁄UáÊ ◊¥ •Ê¥ÃÁ⁄U∑§ ∞fl¥ ’Ês, ŒÊŸÊ¥ ∑§Ê⁄U∑§ ‚Áê◊Á‹Ã „ÊÃ „Ò¥

(C) ¬ÊÁ⁄UÃ¥òÊ, •ø⁄U ¬˝∑§Ê⁄U ∑§ ’Ê¡Ê⁄UÊ¥ ◊¥ ∑§Êÿ¸ ∑§⁄UÃÊ „Ò

(D) ß¸ ß¸ Ã÷Ë ‚»§‹ „ÊÃÊ „Ò ¡’ ©‚◊¥ ‚⁄U∑§Ê⁄U ‚¥Á‹åÃ Ÿ „Ê
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7. Which of the following groups best describes Entrepreneurship Ecosystem components ? 1

(A) Lifecycle and Growth

(B) Government and Constitution

(C) Business Environment and Finance

(D) Structure and Calculations

ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ‚◊Í„, ©lÁ◊ÃÊ ¬ÊÁ⁄UÃ¥òÊ ÉÊ≈U∑§Ê¥ ∑§Ê üÊc∆UÃ◊ ÁflfløŸ „Ò?

(A) ¡ËflŸø∑˝§ ∞fl¥ ‚¥flÎÁh

(B) ‚⁄U∑§Ê⁄U ∞fl¥ ‚¥ÁflœÊŸ

(C) √ÿfl‚Êÿ flÊÃÊfl⁄UáÊ ∞fl¥ ÁflûÊ

(D) ‚¥⁄UøŸÊ ∞fl¥ ¬Á⁄UªáÊŸÊ∞°

8. Within how many days a person should apply for registration under Goods and Services
Tax ?

(A) Within 60 days from the date he becomes liable for registration.

(B) Within 30 days from the date he becomes liable for registration.

(C) No time limit.

(D) Within 90 days from the date he becomes liable for registration.

flSÃÈ ∞fl¥ ‚flÊ ∑§⁄U ∑§ •¥Ãª¸Ã ¬¥¡Ë∑§⁄UáÊ „ÃÈ ∞∑§ √ÿÁÄÃ ∑§Ê Á∑§ÃŸ ÁŒŸÊ¥ ∑§ ÷ËÃ⁄U •ÊflŒŸ ∑§⁄UŸÊ øÊÁ„∞?

(A) ¬¥¡Ë∑§⁄UáÊ „ÃÈ ŒÊÿË „ÊŸ ∑§ 60 ÁŒŸÊ¥ ∑§ ÷ËÃ⁄U

(B) ¬¥¡Ë∑§⁄UáÊ „ÃÈ ŒÊÿË „ÊŸ ∑§ 30 ÁŒŸÊ¥ ∑§ ÷ËÃ⁄U

(C) ∑§Êß¸ ‚◊ÿ ‚Ë◊Ê Ÿ„Ë¥

(D) ¬¥¡Ë∑§⁄UáÊ „ÃÈ ŒÊÿË „ÊŸ ∑§ 90 ÁŒŸÊ¥ ∑§ ÷ËÃ⁄U

9. What is the cut off turnover limit for compulsory registration under GST ? 1

(A) ` 9 lakhs (B) If it exceeds ` 20 lakhs

(C) ` 50 lakhs (D) No limit for registration

¡Ë ∞‚ ≈UË ∑§ •¥Ãª¸Ã •ÁŸflÊÿ¸ ¬¥¡Ë∑§⁄UáÊ „ÃÈ Áfl∑˝§ÿ ⁄UÊÁ‡Ê ∑§Ë •¥ÁÃ◊ ‚Ë◊Ê ÄÿÊ „Ò?

(A) ` 9 ‹Êπ (B) ÿÁŒ ÿ„ ` 20 ‹Êπ ‚ •Áœ∑§ „Ê

(C) ` 50 ‹Êπ (D) ¬¥¡Ë∑§⁄UáÊ „ÃÈ ∑§Êß¸ ‚Ë◊Ê Ÿ„Ë¥

10. Which organisation sets the general minimum age to join an employment ? 1

(A) Indian Labour Organisation

(B) International Law Organisation

(C) International Labour Organisation

(D) Internal Legislative Organisation

∞∑§ ŸÊÒ∑§⁄UË ¬˝Ê⁄¥U÷ ∑§⁄UŸ „ÃÈ ‚Ê◊Êãÿ ãÿÍŸÃ◊ •ÊÿÈ ∑§ÊÒŸ-‚Ê ‚¥ª∆UŸ ÁŸœÊ¸Á⁄UÃ ∑§⁄UÃÊ „Ò?

(A) ÷Ê⁄UÃËÿ üÊ◊ ‚¥ª∆UŸ

(B) •¥Ã⁄UÊ¸c≈˛UËÿ ÁflÁœ ‚¥ª∆UŸ

(C) •¥Ã⁄UÊ¸c≈˛UËÿ üÊ◊ ‚¥ª∆UŸ

(D) •Ê¥ÃÁ⁄U∑§ ÁflœÊŸ ‚¥ª∆UŸ

1
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11. A person can improve his performance through participating in group learning.  Which
learning mode is used here ?

(A) Reflective Observation (B) Abstract Conceptualisation

(C) Active Experimentation (D) Concrete Experience

∞∑§ √ÿÁÄÃ ‚◊Í„ •Áœª◊ ◊¥ ÷Êª ‹∑§⁄U •¬ŸÊ ÁŸc¬ÊŒŸ ‚ÈœÊ⁄U ‚∑§ÃÊ „Ò– ÿ„Ê° •Áœª◊ ∑§Ë ∑§ÊÒŸ-‚Ë ÁflÁœ ¬˝ÿÈÄÃ ∑§Ë
ªß¸ „Ò?

(A) ÁfløÊ⁄UÊà◊∑§ ¬˝ˇÊáÊ (B) ∑§ÊÀ¬ÁŸ∑§ flÒøÊÁ⁄U∑§ÃÊ

(C) ‚Á∑˝§ÿ ¬˝ÿÊª (D) ÿÕÊÕ¸¬ÍáÊ¸ •ŸÈ÷fl

12. In the context of Job Application, the full form of CV is : 1

(A) Career Vitae (B) Curriculum Vitae

(C) Care Vitae (D) Cover Vitae

ŸÊÒ∑§⁄UË „ÃÈ •ÊflŒŸ ∑§ ‚¥Œ÷¸ ◊¥ ‚Ë flË ∑§Ê ¬ÍáÊ¸ M§¬ „Ò —

(A) ∑Ò§Á⁄Uÿ⁄U ÁflÁ≈U (B) ∑§Á⁄U∑È§‹◊ ÁflÁ≈U

(C) ∑§ÿ⁄U ÁflÁ≈U (D) ∑§fl⁄U ÁflÁ≈U

13. Conflict arises due to : 1

(A) Responsive Behaviour (B) Indifferent Opinion

(C) Disagreement (D) Cordial Relationship

◊Ã÷Œ Á¡‚ ∑§Ê⁄UáÊ ©à¬ãŸ „ÊÃ „Ò¥, fl„ „Ò —

(A) ©ûÊ⁄UŒÊÿË √ÿfl„Ê⁄U (B) ÁŸc¬ˇÊ ÁfløÊ⁄U

(C) •‚„◊ÁÃ (D) ◊ÒòÊË¬ÍáÊ¸ ‚¥’¥œ

14. The full form of URL is : 1

(A) Uniform Resource Locator (B) Unique Resource Locator

(C) Unit Resource Locator (D) Uniform Region Locator

ÿÍ •Ê⁄U ∞‹ ∑§Ê ¬ÍáÊ¸ M§¬ „Ò —

(A) ÿÍÁŸ»§Ê◊¸ Á⁄U‚Ê‚¸ ‹Ê∑§≈U⁄U (B) ÿÍÁŸ∑§ Á⁄U‚Ê‚¸ ‹Ê∑§≈U⁄U

(C) ÿÍÁŸ≈U Á⁄U‚Ê‚¸ ‹Ê∑§≈U⁄U (D) ÿÍÁŸ»§Ê◊¸ ⁄UË¡Ÿ ‹Ê∑§≈U⁄U

15. Good business ideas should not be : 1

(A) Innovative (B) Solution of problems

(C) Profitable (D) Common

•ë¿UÊ √ÿfl‚Êÿ ÁfløÊ⁄U ∞‚Ê Ÿ „Ê —

(A) Ÿfl¬˝flÃ¸Ÿ‡ÊË‹ (B) ‚◊SÿÊ•Ê¥ ∑§Ê ÁŸŒÊŸ

(C) ‹Ê÷¬˝Œ (D) ‚Ê◊Êãÿ

1
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16. Goods and Services Tax is not applicable to : 1

(A) Cosmetics (B) Apparels

(C) Auto Parts (D) Petroleum Products

flSÃÈ ∞fl¥ ‚flÊ •ÁœÁŸÿ◊ Á¡‚ ¬⁄U ‹ÊªÍ Ÿ„Ë¥ „ÊÃÊ, fl„ „Ò —

(A) ¬˝‚ÊœŸ ‚Ê◊ª˝Ë (B) ¬Á⁄UœÊŸ

(C) •ÊÚ≈UÊ ¬Ê≈˜¸‚ (D) ¬Ò≈˛UÊÁ‹ÿ◊ ©à¬ÊŒ

17. State whether following statements are True or False : 2

(i) Fancy or colourful apparels are usually avoided at the workplace.

(ii) Negotiation is simply the act of finding a point of agreement between two parties.

’ÃÊß∞ ∑§Ë ÁŸêŸ ∑§ÕŸ ‚àÿ „Ò •ÕflÊ •‚àÿ —

(i) ∑§Êÿ¸SÕ‹ ¬⁄U ◊ŸÊ„⁄U •ÕflÊ ⁄¥Uª-Á’⁄¥Uª ¬Á⁄UœÊŸÊ¥ ‚ ’øŸÊ øÊÁ„∞–

(ii) ŒÊ ¬ˇÊÊ¥ ∑§ ’Ëø ‚„◊ÁÃ ∑§ Á’ãŒÍ ∑§Ê πÊ¡ŸÊ ‚Ê◊ÊãÿÃ— ‚¥Áœ∑˝§◊ „Ò–

18. State whether following statements are True or False : 2

(i) A letter is a form of written communication.

(ii) TQM stands for Total Quality Management.

’ÃÊß∞ Á∑§ ÁŸêŸ ∑§ÕŸ ‚àÿ „Ò •ÕflÊ •‚àÿ —

(i) ¬òÊ, Á‹ÁπÃ ‚ê¬˝·áÊ ∑§Ê ∞∑§ M§¬ „Ò–

(ii) ≈UË ÄÿÍ ∞◊ •ÕÊ¸Ã˜ ≈UÊ≈U‹ ÄflÊÁ‹≈UË ◊ÒŸ¡◊Ò¥≈U–

19. Fill in the blanks in any two of the following : 2

(i) The cycle of learning by David Kolb consists of _________ learning modes.

(ii) The speed with which the data is exchanged is called as the _________.

(iii) _________ Software is a program or set of programs that are designed to prevent,
search for, detect and remove software viruses.

ÁŸêŸ ◊¥ ‚ ∑§Êß¸ ŒÊ Á⁄UÄÃ SÕÊŸ ÷Á⁄U∞ —

(i) «UÁfl«U ∑§ÊÀ’ ∑§ •Áœª◊ ø∑˝§ ◊¥ _________ •Áœª◊ ÁflœÊ∞° „Ò¥–

(ii) Á¡‚ ªÁÃ ‚ «U≈UÊ ∑§Ê ÁflÁŸÿ◊ „ÊÃÊ „Ò, ©‚ _________ ∑§„Ã „Ò¥–

(iii) _________ ‚Êç≈Uflÿ⁄U ∞∑§ ∑§Êÿ¸∑˝§◊ •ÕflÊ ∑§Êÿ¸∑˝§◊Ê¥ ∑§Ê ‚◊ÈìÊÿ „Ò, Á¡‚ ‚Êç≈Uflÿ⁄U flÊÿ⁄U‚Ê¥ ∑§Ê ⁄UÊ∑§Ÿ,
πÊ¡Ÿ, ¬„øÊŸŸ ÃÕÊ „≈UÊŸ „ÃÈ •Á÷∑§ÁÀ¬Ã Á∑§ÿÊ ¡ÊÃÊ „Ò–
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20. Complete any two of the following sentences by filling the correct form of verb. 2

(i) Kiran has _________ (work) in Tourism industry for 12 years.

(ii) This pen writes _________ (good) than others.

(iii) He _________ (work) as Manager.

Á∑˝§ÿÊ ∑§ ‚„Ë M§¬ ∑§Ê ÷⁄U∑§⁄U ÁŸêŸ ◊¥ ‚ ∑§Êß¸ ŒÊ  flÊÄÿ ¬ÍáÊ¸ ∑§ËÁ¡∞ —
(i) Kiran has _________ (work) in Tourism industry for 12 years.

(ii) This pen writes _________ (good) than others.

(iii) He _________ (work) as Manager.

21. Match the statements of Column - I with the right option of Column - II. 2

Column - I Column - II

(i) Websites use a protocol is called (a) Scanning

(ii) To read the whole text or a large part of the (b) Secured Socket Layer

text, so as to understand the general meaning

SÃ¥÷ - I ∑§ ∑§ÕŸÊ¥ ∑§Ê SÃ¥÷ - II ∑§ ‚„Ë Áfl∑§À¬ ‚ Á◊‹ÊŸ ∑§ËÁ¡∞ —

SÃ¥÷ - I SÃ¥÷ - II

(i) flÒ’SÕ‹ ∞∑§ ∑˝§◊ÊøÊ⁄U ¬˝ÿÈÄÃ ∑§⁄UÃË „Ò¥, ¡Ê ∑§„‹ÊÃÊ „Ò (a) •fl‹Ê∑§Ÿ

(ii) ‚ê¬ÍáÊ¸ Áfl·ÿ flSÃÈ •ÕflÊ ©‚∑§ ∞∑§ ’«∏ ÷Êª ∑§Ê ¬…∏ŸÊ, (b) ‚È⁄UÁˇÊÃ ‚Ê∑§≈U ¬⁄UÃ

ÃÊÁ∑§ ©‚∑§Ê ‚Ê◊Êãÿ •Õ¸ ‚◊¤ÊÊ ¡Ê ‚∑§

22. Complete any two of the following sentences : 2

(i) Google Chrome, Mozilla Firefox and Opera are the examples of _________.

(ii) The payment of Bonus Act, 1965 states that any organisation which has over _________
employees has to pay bonus.

(iii) SWOT : Strengths, Weaknesses, Opportunities and _________.

ÁŸêŸ ◊¥ ‚ ∑§Êß¸ ŒÊ ∑§Ê ¬ÍáÊ¸ ∑§ËÁ¡∞ —

(i) ªÍª‹ ∑˝§Ê◊, ◊ÊÁ$¡À‹Ê $»§Êÿ⁄U»§ÊÄ‚ ÃÕÊ •Ê¬⁄UÊ _________ ∑§ ©ŒÊ„⁄UáÊ „Ò¥–

(ii) ’ÊŸ‚ ÷ÈªÃÊŸ •ÁœÁŸÿ◊, 1965 ∑§ •ŸÈ‚Ê⁄U, _________ ‚ •Áœ∑§ ∑§◊¸øÊÁ⁄UÿÊ¥ flÊ‹ ‚¥ª∆UŸ ∑§Ê ’ÊŸ‚
÷ÈªÃÊŸ ∑§⁄UŸÊ „ÊªÊ–

(iii) ∞‚ «UéÀÿÍ •Ê ≈UË — S≈˛U¥ÇÕ, flË∑§ŸÒ‚, •¬ÊøÈ¸ÁŸ≈UË‚ ÃÕÊ _________–

23. Write True for correct statement and False for incorrect statement : 2

(i) Mouse, Keyboard and Joystick are the examples of software.

(ii) First aid services are necessary to prevent the excessive medical expenses of the workers.

‚„Ë ∑§ÕŸ „ÃÈ ‚àÿ ÃÕÊ ª‹Ã ∑§ÕŸ „ÃÈ •‚àÿ Á‹Áπ∞ —

(i) ◊Ê©‚, ∑È¥§¡Ë¬≈U‹ ÃÕÊ ¡ÊÿÁS≈U∑§, ‚Êç≈Uflÿ⁄U ∑§ ©ŒÊ„⁄UáÊ „Ò–

(ii) ∑§◊¸øÊÁ⁄UÿÊ¥ ∑§ •àÿÁœ∑§ ÁøÁ∑§à‚Ê √ÿÿÊ¥ ∑§Ë ⁄UÊ∑§ÕÊ◊ „ÃÈ ¬˝ÊÕÁ◊∑§ ‚„ÊÿÃÊ ‚flÊ∞° •Êfl‡ÿ∑§ „Ò¥–
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24. Fill in the blanks in any two of the following : 2
(i) In the context of computer, a MAN typically covers an area between _________ and

K.M. range.
(ii) The past tense of ‘Go’ is _________.
(iii) Ctrl + C is used for _________a document in computer.

ÁŸêŸ ◊¥ ‚ ∑§Êß¸ ŒÊ Á⁄UÄÃ SÕÊŸ ÷Á⁄U∞ —
(i) ∑§êåÿÍ≈U⁄U ∑§ ‚¥Œ÷¸ ◊¥, ∞∑§ ∞◊ ∞ ∞Ÿ •ÊÒ‚ÃŸ _________ ÃÕÊ _________ Á∑§.◊Ë. ∑§ ˇÊòÊ ∑§Ê •ÊflÁ⁄UÃ

∑§⁄UÃÊ „Ò–
(ii) ‘Go’ ∑§Ê ÷ÍÃ∑§Ê‹ _________ „Ò–
(iii) ∑§êåÿÍ≈U⁄U ◊¥ ∞∑§ ¬˝¬òÊ ∑§Ê _________ ∑§⁄UŸ „ÃÈ ∑¥§≈˛UÊ‹ + ‚Ë ∑§Ê ©¬ÿÊª Á∑§ÿÊ ¡ÊÃÊ „Ò–

25. Match the statements of Column - I with the right option of Column II. 2
Column - I Column - II

(i) To read for a particular word or phrase (a) Hacker
(ii) The person who uses computers to gain (b) Skimming

unauthorised access to data

SÃ¥÷ - I ∑§ ∑§ÕŸÊ¥ ∑§Ê SÃ¥÷ - II ∑§ ‚„Ë Áfl∑§À¬ ‚ Á◊‹ÊŸ ∑§ËÁ¡∞ —
SÃ¥÷ - I SÃ¥÷ - II

(i) ∞∑§ Áfl‡Ê· ‡ÊéŒ •ÕflÊ flÊÄÿ ∑§Ê ¬…∏Ÿ „ÃÈ (a) „Ò∑§⁄U
(ii) «UÊ≈UÊ ÃÕÊ •ŸÊÁœ∑Î§Ã ¬„È°ø ’ŸÊŸ „ÃÈ ∑§êåÿÍ≈U⁄U ¬˝ÿÈÄÃ (b) ÁˇÊ¬˝ªÊ◊Ë ¬∆UŸ

∑§⁄UŸ flÊ‹Ê √ÿÁÄÃ

26. State whether following statements are True or False : 2
(i) The communication must be kept friendly, open and honest.
(ii) Business incubation is a “stagnant process of business development”.

’ÃÊß∞ Á∑§ ÁŸêŸ ∑§ÕŸ ‚àÿ „Ò •ÕflÊ •‚àÿ —
(i) ‚¥¬˝·áÊ ∑§Ê ◊ÒòÊË¬ÍáÊ¸, ◊ÈÄÃ ÃÕÊ ß◊ÊŸŒÊ⁄U ⁄UπŸÊ øÊÁ„∞–
(ii) √ÿfl‚Êÿ ©Œ˜÷flŸ, √ÿfl‚Êÿ Áfl∑§Ê‚ ∑§Ë ∞∑§ ÁSÕ⁄U ¬˝Á∑˝§ÿÊ „Ò–

27. State whether the following cases are of direct taxes or indirect taxes : 2
(i) Income Tax (ii) Goods and Service Tax

’ÃÊß∞ Á∑§ ÁŸêŸ ◊Ê◊‹ ¬˝àÿˇÊ ∑§⁄U ∑§ „¥Ò •ÕflÊ •¬˝àÿˇÊ ∑§⁄U ∑§ „Ò¥ —
(i) •Êÿ ∑§⁄U (ii) flSÃÈ ∞fl¥ ‚flÊ ∑§⁄U

28. Fill in the blanks in any two of the following : 2
(i) _________ describes what a company wants to do now.
(ii) Damaging or destroying data rather than stealing or misusing them is known as

_________.
(iii) CPU stands for _________.

ÁŸêŸ ◊¥ ‚ ∑§Êß¸ ŒÊ Á⁄UÄÃ SÕÊŸ ÷Á⁄U∞ —
(i) _________ ÁflflÁøÃ ∑§⁄UÃÊ „Ò Á∑§ ∑¥§¬ŸË •’ ÄÿÊ ∑§⁄UŸÊ øÊ„ÃË „Ò–
(ii) «UÊ≈UÊ ∑§Ê øÈ⁄UÊŸ •ÕflÊ ŒÈL§¬ÿÊª ∑§⁄UŸ ∑§ ’¡Êÿ ©‚ •Ê„Ã •ÕflÊ Ÿc≈U ∑§⁄UŸÊ _________ ∑§„‹ÊÃÊ „Ò–
(iii) ‚Ë ¬Ë ÿÍ •ÕÊ¸Ã˜ _________–
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29. Suggest any two tips for Group Discussion. 2

‚◊Í„ øøÊ¸ „ÃÈ ∑§Êß¸ ŒÊ ÿÈÁÄÃÿÊ° ‚È¤ÊÊß∞–

30. Differentiate between opinion and facts. 2

ÁfløÊ⁄U ∞fl¥ ÃâÿÊ¥ ∑§ ’Ëø •¥Ã÷¸Œ ∑§ËÁ¡∞–

OR / •ÕflÊ
State any two guidelines may be followed while writing a cover letter.

•Êfl⁄UáÊ ¬òÊ Á‹πÃ ‚◊ÿ •ŸÈ¬Ê‹Ÿ Á∑§ÿ ¡ÊŸ flÊ‹ ∑§Êß¸ ŒÊ ÁŒ‡ÊÊÁŸŒ¸‡Ê ’ÃÊß∞–

31. List any four benefits of ‘World Wide Web’. 2

“flÀ«¸U flÊß«U flÒ’” ∑§ Á∑§ã„Ë¥ øÊ⁄U ‹Ê÷Ê¥ ∑§Ë ‚ÍøË ’ŸÊß∞–

32. Why do we use e-mail ? 2

„◊ ß¸-◊‹ ∑§Ê ©¬ÿÊª ÄÿÊ¥ ∑§⁄UÃ „Ò¥?

33. What do you understand by miscommunication ? 2

ŒÈ‚Z¬˝·áÊ ‚ •Ê¬∑§Ê ÄÿÊ •Á÷¬˝Êÿ „Ò?

34. Briefly explain the meaning of Cloud Computing. 2

Ä‹Ê©«U ∑§êåÿÍÁ≈¥Uª ∑§Ê •Õ¸ ‚¥ˇÊ¬ ◊¥ ‚◊¤ÊÊß∞–

OR / •ÕflÊ
What is an Entrepreneurship Ecosystem ?

©lÁ◊ÃÊ ¬ÊÁ⁄UÃ¥òÊ ÄÿÊ „Ò?

35. What is Cyber-crime ? 2

‚Êß’⁄U •¬⁄UÊœ ÄÿÊ „Ò?

OR / •ÕflÊ
Differentiate between Hearing and Listening.

‚ÈŸŸ ∞fl¥ üÊfláÊ ∑§⁄UŸ ◊¥ •¥Ã÷¸Œ ∑§ËÁ¡∞–

36. Name any two books of accounts to be maintained in business. 2

√ÿfl‚Êÿ mÊ⁄UÊ ⁄UπË ¡ÊŸ flÊ‹Ë ŒÊ ‹πÊ ¬ÈSÃ∑§Ê¥ ∑§ ŸÊ◊ ŒËÁ¡∞–

OR / •ÕflÊ
What is Time Management ?

‚◊ÿ ¬˝’¥œŸ ÄÿÊ „Ò?

37. What are manufacturing enterprises ? 2

ÁŸ◊Ê¸áÊË ©¬∑˝§◊ ÄÿÊ „ÊÃ „Ò¥?
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38. “A business organisation is a complex structure which requires automation beyond a
particular scale of operations.” In the light of this statement, explain the concept of Enterprise
resource planning.

““√ÿfl‚Êÿ ‚¥ª∆UŸ ∞∑§ ¡Á≈U‹ ‚¥⁄UøŸÊ „Ò, Á¡‚ ¬˝øÊ‹Ÿ ∑§ ∞∑§ ÁŸÁ‡øÃ ¬Ò◊ÊŸ ‚ ¬⁄U SfløÊ‹Ÿ ∑§Ë •Êfl‡ÿ∑§ÃÊ „ÊÃË
„Ò–”” ß‚ ∑§ÕŸ ∑§ ‚¥Œ÷¸ ◊¥ ©¬∑˝§◊ ‚¥‚ÊœŸ ÁŸÿÊ¡Ÿ ∑§Ë •flœÊ⁄UáÊÊ ‚◊¤ÊÊß∞–

39. Why should reports be written ? 3

Á⁄U¬Ê≈ZU ÄÿÊ¥ Á‹πË ¡ÊŸË øÊÁ„∞?
  OR / •ÕflÊ

Briefly explain the Workmen’s Compensation Act, 1923.

∑§◊¸øÊ⁄UË ˇÊÁÃ¬ÍÁÃ¸ •ÁœÁŸÿ◊, 1923 ∑§Ë ‚¥ÁˇÊåÃ √ÿÊÅÿÊ ∑§ËÁ¡∞–

40. Briefly explain the Employees Provident Fund and Miscellaneous Provisions Act, 1952. 3

∑§◊¸øÊ⁄UË ÷Áflcÿ ÁŸÁœ ∞fl¥ ÁflÁflœ ¬˝ÊflœÊŸ •ÁœÁŸÿ◊, 1952 ∑§Ê ‚¥ˇÊåÊ ◊¥ ‚◊¤ÊÊß∞–
OR / •ÕflÊ

One sentence is to be framed for each of the following words.
(a) Machine
(b) Problem
(c) Finished

ÁŸêŸ ‡ÊéŒÊ¥ ◊¥ ‚ ¬˝àÿ∑§ ∑§Ê ∞∑§-∞∑§ flÊÄÿ •¥ª˝¡Ë ◊¥ ’ŸÊß∞ –
(a) Machine
(b) Problem
(c) Finished

41. What do you understand by Job Description ? 3

∑§Êÿ¸ Áflfl⁄UáÊ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥?

42. State any five points to be kept in mind for a clear communication. 5

S¬c≈U ‚¥¬˝·áÊ „ÃÈ äÿÊŸ ◊¥ ⁄Uπ ¡ÊŸ flÊ‹ ∑§Êß¸ ¬Ê°ø Á’ãŒÍ ’ÃÊß∞–
OR / •ÕflÊ

List any five disadvantages of using Smart phones.

S◊Ê≈¸ »§ÊŸ ©¬ÿÊª ∑§⁄UŸ ∑§Ë Á∑§ã„Ë¥ ¬Ê°ø „ÊÁŸÿÊ¥ ∑§Ë ‚ÍøË ’ŸÊß∞–

43. What are the PSMART goals ? 5

¬Ë ∞‚ ∞◊ ∞ •Ê⁄U ≈UË ‹ˇÿ ÄÿÊ „Ò?
OR / •ÕflÊ

Mention any five commodities on which GST is applicable.

∞‚Ë ¬Ê°ø flSÃÈ•Ê¥ ∑§Ê ©À‹π ∑§ËÁ¡∞ Á¡Ÿ ¬⁄U ¡Ë ∞‚ ≈UË ‹ÊªÍ „ÊÃÊ „Ò–

- o O o -
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